Solving with Exponential Models
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1. The number of hybrid vehicles sold in the United States, H, can be modeled by the formula H=199148(2.14)n, where n is the number of years since 2007.

a) Evaluate H=199148(2.14)n, when n=0.  What does the answer represent?
b) Estimate the number of hybrid vehicles sold in 2010.
c) Estimate the number of hybrid vehicles sold in 2005.
d) Estimate when there will be 2 500 000 hybrid vehicles in the United States.
e) Estimate when there will be 11 000 000 hybrid vehicles in the United States.
2. There were 25 000 hybrid vehicles sold in Canada in 2006, and the number sold is growing exponentially.  If there were 121 560 sold in Canada in 2011, at what rate are sales increasing?

3. Under annual compounding, a principal of $500 grows to $850 in 4 years. Determine the annual interest rate if A=P(1+i)n.

4. Scientists use the formula D= 0.87M 8/9 , to determine the drinking rate, D litres per day, for a mammal with mass M kilograms.

a) Determine the drinking rate of an animal that is 45kg.

b) Determine the mass of an animal that drinks 8L of water per day.

c) Determine the mass of an animal that drinks 3L of water per day.
Homework:  pg 401 #14, 16, 17, 25
Three Things to Solve For:


y –  Sub in x								y=3∙4x, solve for y if x=5


x (the exponent) – Sub in y and use TRIAL and ERROR   	y=3∙4x, solve for x if y=12288


b (the base) – Sub in x and y and raise to the reciprocal fractional exponent to isolate for b									y = b x  , solve for b if y=729 and x= 6








